Exercise 1Section6.9inG&S

2= Sol ve [Det [{{-mu, mu}, {lanbda, -lanbda}} -x {{1, 0}, {0, 1}}]1 =0, {X}]
oufzl= {{X—=0}, {Xx- -lanbda-mu}}

n4= Solve [{{-mu, nu}, {lanbda, -lanbda}}. {{bll, bl2}, {b21, b22}} ==
{{b11, b12}, {b21, b22}}. {{0, 0}, {0, -lanbda-rmu}}, {bll, bl2, b21, b22}]
b12 | anbda
2= {1b21 - bll, b22 5 ——
ouf] {{ > > — }}
ns= B={{1, mu}, {1, -lanbda}};
mii= Full S nplify [B {{1, 0}, {0, BExp[-t % (lanbda +nu)]1}}.Inverse[B]]

| anbda + ¢ (lanbda +mi) t a, _ o (lambda +mu) t

out[11]= {{ ; },
| anbda + mu | anbda + mu
| anbda - e~ (lamda +mi) t | appdg - (lamdda ~mu) t | gpipda + nu

{ | anbda + nu ’ | anbda + nu }}




